CHEMISTRY BALANCING PRACTICE #3

PART 1. Complete and balance these double displacement equations:

1) MgClz + NHsNO3z = +

2) FeClz + KOH > +

3) NaxCOs + Ca(OH). - +

4) CaCly + HNOs > +

5) (NH4)2SO4 + Mg(NO3). => +

6) Ca(HCOz)2 + ZnCl2; = +

7) BaO + ZnCl; > +

8) CrCls + H,S0s = +

9) AgNOs + K,S > +

10) BaBr2 + Nal - +

11) Fe(NO2)2 + NH4OH > +

12) CaCOsz + HC;H30, - +

13) FeClz + H2SO4 > +

14) AgNOs + NaCl > +

15) Zn(CN); + NaOH > +

16) Ba(NOs)2 + HsPOs > +




PART 2:
e Balance the following equations.
e Classify as synthesis/combination, decomposition, single replacement, double
replacement, or hydrocarbon combustion — complete or incomplete.

17) H2 + O2 2> H20

18) Sg + O2 = SOs

19) HgO - Hg + O2

20) Na + H2O0 - NaOH + H:

21) CioH,s + Cl, > C + HCI

22) N2 + O2 2> N2O

23) CoHz + O2 > CO2 + H2O

24) C7Hie + 02 > CO2 + H20

25) SiO2 + HF - SiF4 + H2O

26) KCIOs - KCI + O

27) KCIO3 - KCIOs + KCI

28) P4O10 + H2O - H3PO4

29) Sb + O2 > Sb4Os

30) CsHg + O2 & CO2 + H0

31) H2S + Cl2 &> Sg + HCI

32) Fe + H2O - Fe30s + H:

33) Fez(S04)3 + KOH - KySOs + Fe(OH)3
34) Na.COz + HCI - NaCl + H.CO3
35) H.CO3 -> CO2 + H20

36) P4 + O2 = P20s

37) H3AsOs = AsOs + H.O

38) Alx(SOs)s + Ca(OH). = AI(OH)s + CaSO4
39) FeCls + NH4sOH - Fe(OH)sz + NH4CI
40) HsBOs; - HiBsO11 + H20



